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Topic:- General Knowledge and Logical Knowledge

1)
Select the opiion that is true about the Statements

and Conclusions given:

Statements:
Some knaves are bruneties

Scme knaves are daughters

Conclusians:
. Some daughters are bruneties
Il. All knaves are bruneties

/ 39 Ao & 9a Hifew o s BE aw ww=r 3w
oot & ax 7 Tor &

T

BT U AH &

To o afear §
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l. T afed amweT §

II. Fair e[ Qe &
1. both conclusion I and II follows / &Y [ 3R 11 ST ST HA G
2. only conclusion II follows / $Had fTewy 11 SIFARUT H AT ?
3. only conclusion I follows / ad (5HY [ STIRV BT §

4, neither conclusion I nor conclusion II follows /= éaf fsp 1 GhT El é)f fAspy 11 S{FUR0] GG %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / = ﬁ fspy 1 3R A ébf ey 11 SR B %
2) River Narmada flows into the / :IﬂET q’cﬂ w‘fw firedr %?

1. Ganga /TR
)



P PP P PR R O N I R Gl ST R BN PRI

3. Bay of Bengal / S7ITdl &1 Wl
4, Arabian Sea / SRd IR

Correct Answer :-

e Arabian Sea / 3Rd R

3) In June 2014, which state was formed after the bifurcation on Andhra Pradesh? / 51 2014 ﬁ:, &Tm ®
Ry & a5 ford 35u &1 716+ T 4

1. Chattisgarh / m
2. Telangana / QT

3. Jharkand / IRES
4. Vidharba / fagyf

Correct Answer :-

e Telangana / GSEII]

4) Which state has the largest state assembly in India? / HIRd o gad atcﬁ I gy fea Tsa d %?
1. Uttar Pradesh / 3TIX e

2. Bihar / ﬁ%ﬁ

3. Kerala / A

4. Maharashtra / HeRTY

Correct Answer ;-

 Uttar Pradesh / 37X LR

5) Which among the following is a nuclear-powered submarine presently in service of the Indian Navy? /

fFifea & & war-afea H- vgst urRda TR S A A 32
1. INS Sindhuvir / 3T RER

2. INS Shalki / 3TSUCY Reab!

3. INS Chakra / 3TSUATH Th

4. INS Shishumar 3TSTTCY YR

Correct Answer :-

« INS Chakra / 3TSU-TY Th



a state? / 60 P wﬁw%wmﬁmwwﬁ%wmmﬂﬁmaﬁzﬁ
e forar man g2

1. Article 350 / 3J®5g 350
2. Article 352 / 3ITw9G 352
3. Article 360 / 3{J%5G 360
4. Article 356 / 3¢ 356

Correct Answer :-

« Article 356 / 3%G 356

7) Which Indian Badminton player won the silver medal at the RIO 2016 Olympics? / g uRdg SsfifeT
et 7 Rt 2016 ShcfU® A Tod ug® Sian?

1. Sania Mirza / 1T st

2. PV Sindhu / YT T, =]

3. Ashwini Ponappa / ST T
4. Saina Nehwal / |TSHT gdTdl

Correct Answer -

« PV Sindhu /Uil &Y

8) Jallianwalla Bagh incident took place on / STIferaaTelt a1 &1 ¥e-T “Clﬁ gfed §'§':
1. November 13, 1932/ 13 W, 1932

2. January 26, 1915 /26 SIARI 1915

3. April 13, 1929 / 13 3{Ud, 1929

4. April 13, 1919 / 13 381, 1919

Correct Answer :-

« April 13, 1919/ 13 3(Ud, 1919

9) Rihand multipurpose project will supply power to . RE< @B%Qﬂ'q ufarer T
o1 fagaq smyfef it

1. southern parts of Madhya Pradesh / & TSR o GIalt HIl
2. only Orissa and Chhattisgarh / Had 33 T 31R @?ﬁﬂ'ﬂ?{
3. central parts of Madhya Pradesh / H&] o= &b A YT

4. northern parts of Madhya Pradesh / H&] e & Sal HIT
(4)



Lorrect Answer :-

« northern parts of Madhya Pradesh / H&] TSR & Sl Ul

10) What is the maximum strength of the Rajya Sabha? / ITSIIHIT P Srfirpaw T w1 82
1, 240 members / 240 T

2. 250 members / 250 ¥

3. 200 members / 200 JaT

4, 260 members / 260 g

Correct Answer :-

¢ 250 members / 250 Ha¥J

11) If MUSHROOM is coded HSUMMOOR, then how is EARTHQUAKE coded? / ﬂﬁ MUSHROOM &1

HSUMMOOR ¥ $If&d fHaT a1 8, 91 EARTHQUAKE 1 S SIS fpar Sam?
1. HTRAEEKAUQ
2. HTRAEQUAKE
3. EARTHEKAUQ

4. EKAUQHTRAE

Correct Answer :-

« HTRAEEKAUQ

12) In which state is India’s longest tunnel, ‘Chenani-Nashri Tunnel’ located? / HRd CIR:CRAGE]N ﬁT‘T

TR AT e R o & PRy 3
1. Jammu and Kashmir / \_rm:j\?:h'{ DHIHR

2. Assam / 3IH

3. Kerala / %l

4. Punjab / USTTS

Correct Answer :-

e Jammu and Kashmir / Gﬂ{{\’fﬁ? DR

13) From which state was the Armed Forces (Special Powers) Acts (AFSPA) withdrawn after 18 years in 2015? /

fra o0 @ Ierd g9 (faxw wifes) srfifaw (weweatie) &1 18 a9 1€ 2015 & ara & foran mar ur?

1. Tripura / agz
)
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3. Nagaland / '_‘Hlllag
4, Assam / 3{H

Correct Answer :-

o Tripura / ﬁgﬂ

14) The Meghdoot Garden is located at ./ ﬁ'ﬂ@“ﬂﬁ"ﬁiﬂ # fRya %'
1. Mandu / HIUg

2. Gwalior / TaTeIIR

3. Ujjain / IS0

4. Indore / 3'_@?

Correct Answer :-

e Indore/ sTcﬁ?

15) The Sardar Sarovar Dam is associated with / TSR IR §i¢ =1 & afia &:
1. Narmada Project / LR IRUISEI

2. Bhakra-Nangal project / Q-HEET—:ITVWUWT

3. Tapti river valley project / Gl EReI] RTINS

4, Mahanadi river valley project / HgMal Al ©Tct GRS

Correct Answer :-

» Narmada Project / T gfgrerT

16) The National Voters’ Day is celebrated every year in India on i ?T@'q Hagrdr fead YR | TR
| @1 T S g

1. 26th January / 26 SR
2. 25th January / 25 SR
3. 21th January / 21 SHARI

4. 20th January / 20 SR

Correct Answer :-

e 25th January / 25 SRt



—= 4 VY AU AU Utes “NA A VALY W ARAUAL LTAREAAULWA AVUA A AEESSEANR S /W CEE Y TESE CEE B ET oNE & & TE SE CavEE BT E we

1. Narendra Modi / 7‘&3 q él
2. Arun Jaitley / 30T SIcat
3. Nitin Gadkari / [fa 7€)

4. Sushma Swaraj / FYHI TS

Correct Answer :-

o Arun Jaitley / 3¥UT Sieat

18) Who was the longest serving Governor of RBI? / e YRdHg fRord 96 & TR & 0 § 999 9
HHI TS QAT DI g 2

1. Dr. Bimal Jalan / S1. foHd STa™
2. Dr. Manmohan Singh / 1. A-HIg Rig
3. Dr. D.Subba Rao / SI. 1. eaT @

4. Sir Benegal Rama Rau / ¥} ST TG

Correct Answer :-

 Sir Benegal Rama Rau / ¥} ST AT

19) Madhya Pradesh Chief Minister has launched a radio programme called to address the people of

the state every month./qWQ%W%ﬂ@ﬁﬁﬁqﬁﬁwaﬂmaﬁﬁﬁwa?m
A ISA SrIHH URY fean 1

1. Pyaar se / Ry
2. Dilse /fG@ ¥
3. Mukhyamantri Ki Baat / 31 T 1 &1d

4, Mann Ki Baat / A9 &1 &1

Correct Answer :-

. Dilse/fea@d

20) Who is the second Indian to score a triple century in Test Cricket? / %RW s | ﬁ?ﬂ Wﬂ'ﬂﬁ ard Q'\‘ﬁ'
YR B9 82

1. Ajinkya Rahane / WW
2. Virender Sehwag / éﬁﬁ edlT
3. Karun Nair / ©=U[ AR

4, Cheteshwar Pujara /é?r%? ESIN
(7)



Lorrect Answer :-

e Karun Nair / =01 IO

21) If SOLID is coded TPMUE, then how is METALLIC coded? / Tf¢ soLip &) TvuE | Hifed fpar Srar g, ot
METALLIC B 8 BITSd [PaT STRIT?

1. NFUCNNJD
2. NFUBMMIJD
3. NFUBNNJD

4. NFUBMMJB

Correct Answer :-

e NFUBMMIJD

22) If GUEST is coded ISGQV, then how is YOUTH coded? / ¢ GUEST @1 IscQV A ®ifed fwar SITar &, @l voutH
&I B4 difed fear SR ?

1. BMIXRJ
2. BMWRJ
3. AMWRIJ

4. AMXRJ

Correct Answer :-

* AMWRIJ

23) The first sitting of the Lok Sabha took place in the year / I THT BT UYH FTREAH 99 i
STafora fopar T ol

1, 1949
2. 1955
3. 1953

4. 1952

Correct Answer :-

e 1952

24) The boys in a class stand in one line. If one boy is nineteenth in order from both the ends, then, how many

boys are there in the class?/@$wﬁ:m@ﬁﬁ@%‘lﬁﬁﬁ?%ﬂﬁwwm%
A van A fra dsd &2

(8)



2,37
3.27

4. 38

Correct Answer :-

e 37

25) In tossing of two coins simultaneously, what is the probability of getting at least one head? / 'cﬁ Rigw! 31

TP H1Y IBTeH H, $H I $H TP Y (38) YT §11 1 T UTiiepdT 22

(UL A | o Jalu—n

ca|

4.

Correct Answer :-

26) Today is Thursday. What day of the week was 866 days before? / 3ITST I[REdIR %I 866 T tl%?r, g4ilg bl

S 91 g um?

1. Tuesday / HITCTAR
2. Monday / AR
3. Sunday / RECIN
4, Saturday / QAR

Correct Answer :-

« Saturday / QAR

©)



L 41 INUYCHIUCT 1alld 11YC udayd UCIULIC yyouueduay, LIci wilatl wil ue uic uay o 4o LCCCLUTL ¢ / MW 3‘1‘1l‘ he b4

Ui fa Ugd 21 TR USdT g, dl 25 feawar &) & fa= g
1. Wednesday / §YdR

2. Thursday / =R
3. Sunday / JdAR

4. Friday / {[shdR

Correct Answer :-

o Thursday / TR™AR

28) Two numbers from which of the following sets add up to 23? /ﬁ'ﬂ'ﬂ'ﬁﬁ"ﬁ AJ P AE @AY 23 BT
NTEd It 51

1. {15,23,4,1}

2. {7,3,16,11}

3. {2,6,19,5}

4, {25,10,5,12}

Correct Answer :-

. {7,3,16,11}

29) Find the odd one out: /Wﬁ'ﬂ'ﬂﬁﬁ a%‘ri%nz:
1. White / 90 G

2. Blue / Hitall

3. Saffron / HERAT

4, Green /83l

Correct Answer :-

o Blue/ Idl

30) Find the odd one out: /Wﬁ'ﬂqﬂﬁ W:
1. Eyes/ 3

2. Nose / -l

3. Ears / DI

4, Stomach / THIRI

Correct Answer :-
(10)



s uvaiatenas

31) Select the option that is true about the Statements and Conclusions given:

Statements:
All red are blues
Some red are greens

Conclusions:
I. Some blues are greens
II. Some greens are blues

| 39 fasheu &1 a8+ Hifere & {6 few T SU=T ofik fAepuf & 9 A Tl §:
DY

g ae A g
POACEN D

e

L PBAATRE

I.POENAE

1. only conclusion II follows / Had (Y 11 &WW%

2. only conclusion I follows / Wﬁlﬁﬂh aﬁwm%

3. neither conclusion I nor conclusion II follows /:[ﬁﬁ'@?ﬁfl ﬁ???ﬁﬁ@ﬁfﬂ WW%
4. both conclusion T and I follows / =I5B 1 3R 11 AE]] &HFR'UTW%

Correct Answer :-

« both conclusion Iand II follows / 5B 1 3R 11 &A1 WW%

32) Select the option that is true about the Statements and Conclusions given:

Statements:
All kites are rockets
Some dancers are kites

Conclusions:

I. All dancers are rockets
I1. Some rockets are dancers

(11)
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I $ IPT TdPb &

1. only conclusion II follows / Had SHY I SIERUI HRT §

2. only conclusion I follows / Pad Aspy 1 WW%

3. neither conclusion I nor conclusion II follows /:[é)[ﬁwﬂfl Gﬁ?qﬁﬁmﬂf 1I WW%

4, both conclusion I and II follows /ﬁmﬂh AR 1 G| STTERUT Hd %

Correct Answer :-

« only conclusion II follows / FHad s 11 WW%

33) Complete the series choosing the missing number: / oI AT TAHT YT Gl T PifoTT:
0,4,6,3,7,9,6,_  ,12

1. 10

2. 11

3. 14

4.8

Correct Answer :-

34) Complete the series choosing the missing number: / oI J&AT TABR YT Ea] T PIfoTT:
13,32,24,43,35,__ ,46,65

1.52

2.55

3.54

4. 45

Correct Answer :-

(12)



35) Complete the series choosing the missing number: / GG TSI P Y&l E| T PIforg:
4,23,60,121,

1. 241

2.242

3.212

4. 221

Correct Answer :-
o 212

36) The series given below contains a sequence of numbers. Identify the incorrect combination: / =ﬂ€ra°r11‘s‘ m

o, Jereil &1 TP HH U & | Ted Ao Ugan-u:
1,2,3,5,8,14

1.2

2. 14

3.8

4.3

Correct Answer :-

. 14

37) The series given below contains a sequence of numbers. Identify the incorrect combination: / =ﬁ%'c?r7rs§ %[EET
H, T=13Hl BT TP HH IJURIC & | T HaTel Ugai-e:

2, 10, 30, 66, 130, 222

1. 66

2. 10

3.222

4. 30

Correct Answer :-

(13)
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they are many, which word represents there? /U® W ﬁg ‘l-ITlSlT 'ef, ]ea tan saz'q"T[ 3 how are they‘
saz liv ton &1 1Y there they are; ton saz pic 1 3 they are manyﬁﬂT %l B3 IS T A there ® f%f({
fa g &1 SxawTa fova T 32

1. saz
2. liv

3. ton

4. cannot be determined / I 9/773'«7 75?7?5?77 FITW??T‘IT?

Correct Answer :-

o liv

39) The first successful nuclear bomb test in India took place at / HIRd ﬁmm TYeor gl g3IT UT:
1. Bombay / CILS

2. Pokhran / GRGR0T

3. Nellie / eeit

4. None of the above / IWRIad & ¥ s g

Correct Answer :-

e Pokhran / TRIRUT

40) Select the option that is true about the Statements and Conclusions given:
Statements:

Some camels are giraffes

All giraffes are crocodiles

Conclusions:

I. Some camels are crocodiles

I1. All giraffes are camels

/ 39 faoreq &1 Tg=1 Fifore it i T e $u=T ik eyt & ar & Ig! 8:
DY-:

PO Sc PRTP &

W RRTe TRA=S §
W&:

I. $ $e ARTD &
11 93 RRTE $e §

(14)
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2. only conclusion IT follows / HId fEHY 11 STIRVT BT §
3. only conclusion I follows / Had sy |1 STTARUT pT %
4, neither conclusion I nor conclusion II follows /< ﬁ fspy 1 3'ﬁ? Gl Epf fepd 11 ST GG %

Correct Answer :-

« only conclusion I follows / Had ST I 3IRUT Hal &

Topic:- Mental Ability and Mental Aptitude

1) e sequence shown below. which figure comes next? / A<l 63 IR &H H. HdTell H@?ﬁ i I
HEE

4,

Correct Answer :-

2)

(15)



In the sequence shown below, which figure comes next? / «il< Tg3 I hH H, 3diell 3-1|c§_ald thied 9T
A

QOO i
\
|

O 0O 00
LJiel L 61 eoCe
ol 1 ole] Q00O

eoCe
00

oy X )
oCe®
" 18]e)

000
L 2]
QOO

4.

Correct Answer :-

Cee
L Jof
00

3 . . . L .
) If the following two squares shown below overlap, which one of the following options is formed? / 2fe;

o & @91 Henid g & ar o= 7 ¥ &9 W 0 Tahed aadr &

NS
L

()

(16)



Correct Answer :-

4)

b
e

(17)

WO | ko

CLT



Lorrect Answer :-

5) A man crosses a 300 m long street in 5 minutes. What is his speed in km per hour? / W?ﬂ% 5

e & 300 Hier T TF &) UR &R A1 81 D! i fomil. der & ®ar g2
1. 1.5 kmph / 1.5 fHt ufcr g
2. 7.2 kmph / 7.2 foHt Ufg g¢
3. 3.6 kmph / 3.6 fH Ui ©¢
4. 2.6 kmph / 2.6 [t ufa g¢

Correct Answer :-

« 3.6 kmph /3.6 At ufg ge

6) A father is thrice as old as his son. 25 years ago, the age of the father was 15 times the age of the son. The

present age ofthefatheris:/@ﬁmmgﬂﬁ?ﬁqwa\%%l zsatfqa‘ﬁmaﬁarrg,gaaﬁarrgﬁww
Y1 e &t ad T oy 2:

1. 87 years / 87 ay
2.79 years / 79 GL
3. 69 years / 69 GL

4. 74 years [ 74 a'ﬁf

Correct Answer :-

e 87 years /87 aﬁf

7) In the class of 50 students, the average marks is 65. Two more students are added to the list with 50 and 75
marks, respectively. One of the students, with 70 marks, drops out from the list. What is the new average marks of

the class? /50 BT D1 H&T H 3T 3P 65 T | Tl & & 3R DT B HHT: 50 3R 75 3P| P TY ST ST
21 B B A TH, 70 3P & TTY A A TT8R 81 54T 81 F&T & Y 3fid 3id 1 82

1. 64.8
2. 65.5
3. 66.6

4. 65

Correct Answer :-
e 648

(18)



8) The number of times 819 is divided by 69, so that the remainder is less than 69 is /ﬁ?_cl';ﬂ TR 819 Pl 69T

faurfora feam s, o1 fF AU 60 A FH B
1. 14
2. 11
3. 12

4. 13

Correct Answer :-

9) Sushil was thrice as old as Snehal 6 years back. Sushil will be 5/3 times as old as Snehal 6 years hence. How old is

Snehal today? / 6 T4 Td JRNe Wed & T A1 987 UT1 6 T¢ UgTa YR DEd 5/3 A1 98T I 3T Wgd
fra ad &t 32

1. 16
2.24
3. 12

4. 18

Correct Answer :-

e 12

10) A car traveling 5/7 of its actual speed covers 42 km in 1 hr 40 min 48 sec. Find the actual speed of the car. / §h

%%ﬁﬁﬁﬁ%sﬁﬁwmw1%40%48@3?031342%%??[%Wiﬁwﬁﬁ
RIGK ]|

1. 25 kmph / 25 fpHt Ufd G
2. 45 kmph / 45 Tt Ofd €
3. 35 kmph / 35 fopHl UfcT ©¢
4, 30 kmph /30 forrt ufg &

Correct Answer :-

« 35kmph /35 et ufa ge

11) The ratio of the length of a park to its width is 5 : 3. What is the length, if the width is 42 meters? / Th 3T

P AATS BT ITD! TISTS § AU 5: 3 ¥ AfS ASTS 42 Hiew | @t da1s fpamii 82

1. 124 meters / 124 Hiex

(19)
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3. 140 meters / 140 Hiew

4, 70 meters / 70 Hex

Correct Answer :-

e 70 meters /70 Hex

12) If a batsman scored 120 runs which included 9 boundaries and 3 sixes, then what percent of his total score did

he make by running between the wickets?/ﬂﬁ({iﬁaﬁwa 120 F[ET'ITQ, foraw o T 3R 3 WQ'IT&I?[%
dl SUP P TR B fha1 ufawd U [Ade & 99 dee: s

1. 48%
2. 50%
3.52%

4. 55%

Correct Answer :-
« 55%

13) If 6 women can work for 8 hrs and finish a work in 10 days, then how many days will10 women take working for

6hrsaweek?/qﬁGmﬁsﬁ%mwmm%ﬁWWﬁloﬁqﬁmmmﬁ?ﬁ
10 AigaTSi B TP HwTe § 6 Hel & forg orf o= # fvam fam &l

1. 10 days/ 10 T&
2. 13 days / 13 &
3. 8days /8 faA

4,12.5 days /12.5 e

Correct Answer :-

. 8days/8faa

14) A can do a piece of work in 12 days and B in 16 days. The two undertake to do it for Rs. 6,000. With the help of
C they are able to complete the work in 6 days. What is the share of B? / A Wmﬁ?ﬁ 12 ﬁ?ﬁ?’_{ g dl % AR
B 16 f= & B~ THaT 81 I 39 6,000 TUAT P o R €1 ¢ B TTadT A 9 B4 Bt 6 fe7 F qof w7 urad
HEEah 12

1. Rs. 2,000 / 2,000 ST
2. Rs. 1,880 / 1,880 ST
3. Rs. 2,250 / 2,250 3T

4, Rs. 2,440 / 2,440 TY
(20)



Lorrect Answer :-

e Rs.2,250/2,250 304

15) A triangle and a parallelogram constructed on the same base have equal areas. The height of the parallelogram
is 7.5 cm. What is the height of the triangle? / T 3MYR W AfHfa te Bwior ok v awiar agyds  sRieR

AT g | HIAR TgYS B HaTs 7.5 Q6T 8 1 Hpior &) FHars wan g2
1.21.5cm/21.5 941

2.15cm /15 9HT

3.7.5cm /7.5 90l

4,12 cm /12 94t

Correct Answer :-

e 15cm /15 9H

16) Average income of A and B is Rs. 200 and average of C and D is Rs. 250. Then the average income of A, B, C, D is

/ A 3R B BT 3 3T 200 TYY & TY ¢ 3R D B 250 BUA §1 AV A, B, €, 3R D P 3T AT &
1. Rs. 225/ 225 T
2. Rs. 150 / 150 B0
3. Rs. 230 / 230 304
4.Rs. 215/ 215394

Correct Answer :-

e Rs.225/225 30

17) Naresh, Satish and Vikram have three boxes of apples. Out of the first box containing 40 apples, Satish and
Naresh divide the apples equally. Then Vikram takes half of what Satish gets. Satish and Vikram divide the second
box of 60 apples equally and then Naresh takes half of what Satish gets. Vikram and Naresh divide the third box of
80 apples equally and then Naresh takes half of what Vikram gets. How many apples does Vikram get in total? /

TR, A= 3R fIspH & U A9 & i 70 81 40 T a0 TS TR A Fal= 3R TR A JaI H SRI6R i
forar 1| bR fapw Y weftwr 1 v Sat o & smem & foram 1 Teit=r iR faspa A 60 Vel a0 gOR T B SRTER
FieT 3R fiFR R= A Teii=r &) uree Jal 7  3mer & forar | s Siiv -R=r A 80 Aa ara) TR 99 HY
TR ¥ gic foram iR R R fary &) v Aa) 7 T 3men @ a1 21 fapd &1 pdf fPad qaura g1a 82

1.20
2. 100
3. 120
4. 60

Correct Answer :-

(21)



18) Which one of the following four addresses is NOT EXACTLY same as the one given below? / =
28 T 9R val 4 @ i Rl T ua & St TuE B9 11 e e 82

Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(i) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(ii) Ingo
Schleswigerstr. 6,

EckernfuKde, 24340

(iii) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(iv) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

4. iii

Correct Answer :-

19) Find the average of the following of the numbers: 10, 0, -1, 10, 1, 0, -10, 10, -10, and 10 /
Frafefaa densit @1 sita 31 #3: 10, 0, -1, 10, 1, 0, -10, 10, -10, 3iX 10

(22)



2.-10
3.0

4.1

Correct Answer :-

e 10

20) What percent of 3/4 is 0.5? / 3/4 I {a+1 ufa=id 0.5 8?2
1. 50

2. 67

3.70

4.75

Correct Answer :-

e 67

21) The selling price of 50 pens is equal to cost price of 80 such pens. What will be the profit or loss
after the sale? / 50 HaH| &1 fawhy gea I TRE DI 80 FAU! & 9 Ued & SRR 81 fIHa & vy ary a1
g fopat gRir?

1. 50 % profit / 50% AIH
2.40 % loss / 40% © g

3. 40 % profit / 40% <Y

4, None of the above /mﬁﬁﬁﬁaﬁé:ﬁﬁ

Correct Answer :-

¢ None of the above /Gﬂﬂaaﬁ@raﬁs‘:@

22) A certain sum is invested at a certain rate of simple interest per annum. The total amount after

five and eight years is Rs. 1420 and Rs. 1660, respectively. What was the amount of initial
investment? / T fAf¥a I vo fAf¥a = & aiffe Iy surer W e &1 S 1 Ui 3T ofe 9d &
YT H IR HART:1420 T 3R 1660 T 3| YRS 3=t &t iy fpa-it Az

1. Rs. 1020 / 1020 39T
2. Rs. 1000 / 1000 TG
3. Rs. 1100 / 1100 T
4. Rs. 1260 / 1260 ST

(23)
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« Rs.1020/1020 3UY

23) When asked her age, Ms Marple says 'I will be n years old in the year n*2.' How old was she in
2000? / 19 At Arda I IHT 1Y TS TS A ITH SR A A nA2 98 & n o B g I 2000 @)
foreq ad @t 2

1.25
2.20
3.21

4.22

Correct Answer :-

e 20

24) In a class of 'n' students, 10 play football, 20 play cricket, and 5 play both. If 6 can play only
tennis, then what is 'n'? / 'n' BT ! &1 H 10 B Peald Tad &, 20 B fbde Wad §, 3R 5 31
Qad ¢1 e 6 Paa T VA wFd g dl 'n' T E?

1. 20
2.28
3.31

4. 26

Correct Answer :-

e 31

25) If after a 25 % raise, Hari's basic pay is Rs. 24,000, then what was his original basic pay? / df¢
25% g & UYTd g $T gal da1 24,000 FUI § ot STBT IRATAP T I T UT?

1. Rs. 30,000 / 30,000 ST
2. Rs. 19,200/ 19,200 ¥TY
3. Rs. 20,000 / 20,000 Y

4. Rs. 18,000 / 18,000 ST

Correct Answer :-

« Rs. 19,200/ 19,200 34T

26)

(24)
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.
1.4,0
2.6,1

3.0,6

4. 4,1

Correct Answer :-

.« 4,0

27) The sum of ages of Lucky and Vicky are 21 and that of Vicky and Nikki are 18 years. Find the
sum of the ages of Lucky and Nikki, if the age of Vicky is 9 years. / P13k faast Ft 3 BT IS
21§ 3R fa@ oiik faet ) omg &1 gimwa 18 af 81 afe faw) & 3y 9 adf & O aa sik fAat &t amg &1
TIPS [ DH |

1. 15
2.21
3.27

4. 18

Correct Answer :-

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: EiE]
313 gmar 7, srery SN wwel &1 uw wH fAfga &1 e e uganae:
i.bgvde1598edvghb

ii.bgvdel1598edvgb

iii.bgvdel598edvghb

iv.bgvde1598edvgb

1.1v

2.1

3.1l

4. iii

Correct Answer :-

e iii

(25)



29) Find the average. / 3N e
14,13,12,11,10 &6

1. 14

2. 11

3.9

4. 13

Correct Answer :-

e 11

30) A person walks at a speed of 5 kmph for 6 hrs and at a speed of 4 kmph for 12 hrs. Find his
average speed. / U Tfd 6 el & forg 5 forwY ufa b1 & 9ra 9 3R 12 Hel & e 4 foet ufa 62 &1 =g
T ol 81 D! SRId I1e 71 Be |

1. 7.33 kmph / 7.33 [t gfa e
2. 5.33 kmph / 5.33 foHt Ufa G
3. 6.33 kmph / 6.33 fopdit Ufaq ©¢
4. 4.33 kmph / 4.33 {1 gfd d¢

Correct Answer :-

« 4.33 kmph / 4.33 fooeit ufa g¢

Topic:- Science and Simple Arithmetic

1)
In the given figure, if | || m and t is the transversal, then X' = L RBuoamw B A, A0 | m AR
t fods Wrg, ar'x' =
r
. 4x/"_ ;
1.25°

(26)
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3,35°
4, 20°

Correct Answer :-

« 30°

2)

Bvaluate: {$)* - ©2} + Q2 / {7 - O + Q2 H o AR :

ol

4.

Correct Answer :-

1
.« B

If'A'is a polynomial and (A) x (-3x¥) =9x% - 6x* + 123 then'A'= [ Tfg A
TR GETG & AT () x(3x)=9x" -6+ 127§, dl ‘A=

1.- 3% +2x +4

2.-3x%>+2x -4

3.-3x% - 2x +4

4.3 x3 +2x2

Correct Answer :-

« -3x2+2x-4



-’ LA RAFN AF AT 8 Pul “ll\/l\lsl CLALRe A HAW ul“s\lll“lﬂ’ 4L AN CLALWA uu’ ALAVW L AL NS e AL \sar W OWALL CLARMA L AN ALY W wAAR
more than BD, then AO=___./ ABCD U® qHiaR agyer 81 fawuf Ac aur 8D, fig '0' W firea 7
Tfg OB = 6 A 3R AC T daTs BD A 4 Tt 3iftrp 8, A A0=_ .

1.4 cm /49
2. 12 cm/ 12 I
3.8 cm /8 U
4.9 cm/ 9 THt

Correct Answer :-

« 8cm/8TH

5) Suma's mother is five times as old as Suma. After ten years, her mother will be thrice as old as
Suma. Find the mother's present age. / gHT B HI BT AT JHT BT Y B Ui T 81 10 T 41,
T T °To DI AR GHT BT 3T B A1 THT FR1T 1 TTo P IFAT 3T JTd PO |

1. 45 years / 45 CL
2. 50 years / 50 Gl
3. 30 years /30 Gl

4, 35 years / 35 ¥

Correct Answer :-

e 50 years/50 G

6) Find the square root of 331776. / 331776 &1 TS JTd PIoTCI
1. 474

2. 576

3. 496

4.574

Correct Answer :-

e 576

7) Find the side of a cube (in cm) whose volume is 42875 cm3. / 39 94 Ca) YT (?.\'Fﬁ ﬁ) Id ﬁﬁrq,
oIt Smaa 42875 A1 B

1.25

2.45

(28)
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4. 35

Correct Answer :-

e 35

8) 'A' and 'B' purchased the same article each for the same price. 'A' sold it for Rs. 14100 and lost 6%.
At what price should 'B' sell the article so as to make a profit of 4%? / 'A’ 3R 'B' 7 UH-3(UA ﬁl’({
T ¢ T G0 TR TR A" 3 39 14100 T H 94T 3R 6% B g1 S15 1 'B' AU g
DI {5 I IR o {6 I 4% BTATY B2

1. Rs. 16500 / 16500 3T
2. Rs. 15750/ 15750 S0
3. Rs. 15600/ 15600 ST

4, Rs. 16850 / 16850 3UT

Correct Answer :-

e Rs. 15600/ 15600 TG

9)
If 9x* + 4y* =100, xy = 8, then the value of (3x + 2y) = LAiE Ox® + 4y =100, xy = 8,
ar (3x + 2y)

1, 112

4 114

Correct Answer :-

a14

10) AB is the diameter of a circle with center 'O" and C is any point on the circle. If ZCAB = 20°, then
/CBA=____./ABTU® g 1 T g o1 %7 '0' 8 3R ¢ 7 W fR@ &5 g 713 2cAB

=20°,d LCBA = )
1. 50°

2. 70°

(29)
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4, 60°

Correct Answer :-
e 70°

11) How many planks each of which is 2 m long, 12 cm wide, and 7 cm thick can be made from a
wooden block 6 m long, 96 cm wide and 35 cm thick? / ﬁﬁﬁ ¥ 6 Hl. ﬁ%, 96 JHI. iﬁ% qUT 35 L.
e gPs I 2 Wt 99, 12 Tt T8, 9uT 7 9. A fPant uex a9 o "hd 32

1. 120
2.90

3. 100
4. 110

Correct Answer :-

« 120

12) If the opposite angles of a rhombus are (3x - 5) and (2x + 15). Then the value of 'x' = J TI'%

TP gy A a0 3x - 5) T @2x +15) 8, Al X' PTAF=___ .
1.10°
2, 25°
3.15°
4. 20°

Correct Answer :-

13) The two adjacent sides of a parallelogram have lengths 12 cm and 8 cm. If the distance between the
two shorter sides is 9 cm, then the distance between the two longer sides is: / T HHIAX ilﬂq;ITrl' PIar
T YATAT Bt AQTS 12 A+t a1 8 At 71 A &1 BT Yomafi & ey ot g3t 9 T §, O Y a7t
YeI3it & &g B g3t e gt

1.60m/6®1ﬁ
2.50m/5@1ﬁ
3.4 cm/4 JH

4.3 cm/3TH
(30)



Lorrect Answer :-

. 6cm/6@1:ﬁ

14) The marks obtained by 20 students in mathematics are as follows:
13,19, 15,24,518, 8, 12, 16, 12, 8, 23, 17, 20, 24, 21, 18, 13, 7, 10.

The data is divided into 5 groups namely 0 -5, 5 - 10, 10 - 15, 15 - 20, 20 - 25.
What is the frequency of the class 15 - 20?

/20 BT GIRT IO | UTe 3 TR §:

13,19, 15, 24,518, 8, 12, 16, 12, 8, 23, 17, 20, 24, 21, 18, 13, 7, 10.

39 3fipe B 5 Ie! # favnfora &= fear mar fomds A 0 - 5, 5- 10, 10 - 15, 15 - 20, 20 - 25 § 1
T 15 - 20 BT TRARAT FIT 52

1.5

2.6

3.3

4.4

Correct Answer :-

15) I borrowed Rs. 10000 from my friend at 6% per annum simple interest for 2 years. Had I borrowed
this sum for the same period and at the same rate compounded annually, what excess interest would I

have to pay? / 89 30 {9 6% arffe Tremmor sarst w € ad & forw 10000 $9 &1 5w foram afe
B9 g YRR U Y & T 0T <uTe &R R Iehgies ST & TR UR foran gia, at gt
foram sifafvead =aret &1 Tean?

1. Rs. 42/ 42 30
2. Rs. 24 /24 307
3. Rs. 36 /36 34T

4. Rs. 68 /68 TUY

Correct Answer :-

e Rs.36/36 30

16) Passage of gases and moisture is regulated on leaves and stems through openings called ./

YT TH BT ARt gy qur e ) Hgdar a1a {551 & gr1 RiBa gar gl
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2. tubes / AfCIPIY
3. guard cells / Y& P PIRMBY
4. epidermis / 3t

Correct Answer :-

e stomata /Y

17) Which of the following is NOT a green house gas? /mﬁﬁﬁqﬂqm%qﬁ%'?
1. Ozone / G‘hﬁ‘h:f

2. Carbon dioxide / W@'IQHUWIE_S'

3. Oxygen / SfeRfre

4. Methane / T3

Correct Answer :-

e Oxygen / SIS

18) Which of the following apparatus can be used to separate a mixture containing petrol and water? /

FraferfEa Susur & 3 fFasT SUTT Ueia a41 Sd & YT S /et He- & fore far o q@war g2
1. Funnel and filter paper / @19 a7 ftheex TR

2. China Dish / I &1

3. Separating funnel / QYIBRI BT

4, Distillation flask / SITEId- G<Eh.

Correct Answer :-

 Separating funnel / T—JW@@U

19) Dilute nitric acid when treated with metals do not give hydrogen. The statement which justifies this tendency

is: / AP d ISP 3 I 519 UTGSHT & AT IR Ha1 o1 7, At g3 o UIed 81 gial 8 | U= St
399 UG &1 I ST 8, T8 8-

1. Dilute nitric acid is an oxidizing agent / dJdd ﬂl%l?\@ 3T U SHTRNPRS g |
2. Dilute nitric acid is an nitrating agent / ddd ql%iéﬁ% ST Uch -'-Héé CRY Hﬁ-ﬁh?ﬁ%l

3. Dilute nitric acid is an reducing agent / dJdd A 3|§$ K] Uh G{CI%ITEW%I

4. Dilute nitric acid is a hydrating agent / dddd :usiéﬁas 3T U Ao Al g
Correct Answer :-

(32)
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20) In biological control of weeds, name the insect used to control opuntia weeds. / 3[UQUT ¥ oig a'ﬂTﬁﬁ?
ford=ror §, UM Srueur & =0T 8 Ugad g4 aTd Bie 3T A1 gargg|

1. Beetle / Q—fT

2. Cochineal insect / BT DI
3. Drones / H'q&‘ﬁ

4. Aphids / UfthS

Correct Answer :-

« Cochineal insect / BIIA Bl

21) Mica sheets are used in electric iron because: /ﬁ'@?ﬁ SMRA | HISDT 'Qﬁ?.{'\‘l' T SYINT foBgT SraT %
Hifep:

1. Mica is very light and a good conductor of electricity. / HISPT dgd Gedh] EPI?IT% G?IT]%@?T Gal WW%I

2. Mica is a good conductor of electricity. / HISPI ﬁg’qﬁ BT ST AP g

3. Mica is a bad conductor of heat. / HISD] f&qu AYTNHTHT hT Ppleldh %I

4. Mica is a bad conductor of electricity but a good conductor of heat. / HIR®PI faqu DI PAID ? Qf T ST BT
S EUCISE

Correct Answer :-

» Mica is a bad conductor of electricity but a good conductor of heat. / HIg®bT ﬁgqﬁ CaEINCT ? QT ST BT
331 AP gl

22) A forest is an example of: / I =@ Uh Igigrul %:
1. A producer / Tdh TGP

2. A biosphere / Uch @ansa

3. An ecosystem / U RS T

4, A community / T JHad

Correct Answer :-

» An ecosystem / T RIS &
23) The shape of the moon changes every day because: / I~GHI DT STPR ufafes sgear %, Fife:

1. We see the part of the moon from which the light of the sun is reflected / 8H - HI DI dg HFT [RC | % o ?Bf Gaj
YT WIaTdid i gl

(33)
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3. The earth forms a shadow on the moon /q&'l’r TEH IR ST S g

4, The sun, the earth and the moon are always in a straight line / {Ef, q&ﬁ TYT TS g e war Bl %l

Correct Answer :-

» We see the part of the moon from which the light of the sun is reflected / @H I HI b dg HIT a“@?f % o F}f Gl
BT WRTafdd gl g

24) The part of human eye which is sensitive to dim and bright lightis_ ./ HI™ P 3G BT dg HIT Eill
g Ud de Yo F yfa Hadl giare,_ §l

1. eye lens / BERRI]

2. rods and cones / Q] T ?21@

3. cornea / BT

4. pupil / ﬂﬁ?ﬁ
Correct Answer :-

 rods and cones / RcIlh @W

25) Plant cells are mostly larger than animal cells. What might be the probable reason? / mm

T ¥4 J uxsii &1 FIRFre | a3 gl € | 3THT YA SR T 8) Fhal 82
1. Water content / SI¢T SHIR[Y

2. Chlorophyll / 90fgRa

3. Food storage / HISTH UG

4, Vacuole / Tefadept

Correct Answer :-

« Vacuole / Rfddesr

26) Clearing of contaminants from wool is called AL 3 'g’fﬁ?[ Wﬁ% JHTMYT BT Dl
EIGIE!

1. carding / %T&;
2. shearing / S P

3. scouring / S{FHTSH
4. spinning / WTsc

Correct Answer :-

(34)
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27) Each kidney is formed of about a million small tubules called . /WW Wﬁaﬁﬂ
T ARE) BT Aferprei A ST g1 81

1. medulla /ﬁ@?ﬂ

2. cortex / dePpC (ao‘ﬁaa)

3. glomerulus R RIS

4. nephrons / 94hI0] (ﬁ'FF\IJT\‘:D

Correct Answer :-

 nephrons / 9dhI0] (ﬁ'EF\IJT\‘I')

28) Which term is used for the organisms whose left and right halves of the body have same design? / Cap k)| Qg

I Sial & fore uge giar @ e IR & 918 9yT a1e Srufn &1 fEwirsa s gar 82
1. Bilaterally symmetry / mm?fwﬁ?r%
2. Radial symmetry/ﬁWWﬁlﬁ

3. None of the above /Wﬁ@ﬂ”ﬁéﬁ
4. Asymmetry / Syt

Correct Answer :-

« Bilaterally symmetry / fguTed THfHfa

29) Which one of the following is not made up of one cell? / faddsaar TP TP HIRIPT BT Y
ST g3 82

1. Amoeba / 3HiaT
2. Zygote / gHAS
3. Hen's egg / TTT & 3131

4, Spirogyra / TATSRIIET

Correct Answer :-

« Spirogyra / TTSINTISRT

30) Celestial objects can be viewed at night with the help of: / @MY fis sH®! Aee | I A ¢@ oI
THd ?

1. Periscope / qReel]
2. Telescope / 'g‘—ﬁﬁ:f

(35)
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4. Kaleidoscope / g ¥ ﬁaﬁil
Correct Answer :-

» Telescope / E‘R@:f

(36)



